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General Instructions- 
1.All the questions are compulsory. 
2.Choose your answers carefully before clicking the options. 
3. Leave the browser only after submitting successfully. 

Q.Choose the correct option-                                                 (1x10=10) 
1.1. Which organ is  not seen from outside? 
a) skin                     b) tongue                     c) foodpipe                   d) ears 
 
2. Number of premolars in our lower jaw are 
a)  2                        b) 4                             c) 12                              d)8  
 
3. The gland that does not secrete digestive juice in small intestine is- 
a) salivary glands             b) pancreas        c) liver          d) none of these 
 
4. It carries digested food to all parts of the body. 
a)  stomach             b) small intestine      c) blood      d) large intestine 
 
5. Which of the statement is not correct about small intestine? 
a) It is nearly 7 meters long. 
b) Partial digestion of food takes place here 
c) The largest gland pours its secretion here. 
d) The walls of small intestine absorbs the digested food. 
 
6.Which statement is correct related to teeth? 
a) Teeth are soft movable part inside our mouth. 
b) The outer covering of teeth is the hardest part of our body. 
c) All  teeth are similar in structure and function. 
d) A child of three years has 20 permanent teeth. 
 
7. The plant in which many roots arise from the base of its stem is- 
a) neem            b) rose          c) wheat                   d) beans 
 
8. In case of banyan , aerial roots arise from its 
a) trunk            b) underground roots            c) branches          d) leaves 
 



9. The root of this plant stores food. 
a) potato           b) carrot            c) beans                 d) mangroves 
 
10.10. Which statement is not correct about roots? 
a) Root fixes a plant in the soil. 
b) Roots prevent soil conservation. 
c) Roots absorb water and minerals from soil. 
d) Roots  prevent soil erosion.  
 
Q.Select True or False for the statement-                                      (1x5=5) 
11. Food enters the stomach through mouth.(-------------) 
12. Undigested waste is collected in anus. (-----------------) 
13. The teeth for cutting and biting food are canines.(---------------) 
13. The teeth for cutting and biting food are canines.(-------------) 
15.15. Mangroves have breathing aerial roots.(--------------) 
 
Q.Match the following-                   ( 1x5=5) 
                      A                                                                          B 
16. germinate                                                   -----    losing water from stools 
17. Chlorophyll                                                 -----    mineral essential for teeth 
18. atmosphere                                                -----    air surrounding the earth 
19. calcium                                                        -----    to grow a sprout 
20.diarrhea                                                        -----    present in leaves 
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